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Question Number : 51 Question Id : 2274279062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
as defined under the Foreign Trade Policy (FTP), implemented by Director General of Foreign Trade has the main aim to “mentor new

and potential exporters on the intricacies of foreign trade through counselling, training and outreach programmes” so that they can get info
international rade

1. Niryat Bharat Scheme
2. Niryat Bandhu Scheme
3. Niryat Benefit Scheme
4 Niryat Border Scheme

Options :

22742735301. 1
22742735302. 2
22742735303. 3

22742735304. 4

Question Number : 51 Question Id : 2274279062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742735301. 1
22742735302. 2
22742735303. 3

22742735304. 4

Question Number : 52 Question Id : 2274279063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

i & marketing term for any design to prompt an immediate response or encourage an immediate sale.

1. Call for Promotion
2. Call for Activity

J. Call to Action

4 Call to Aspiration

Options:

22742735305. 1
22742735306. 2
22742735307.3

22742735308. 4

Question Number : 52 Question Id : 2274279063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



—

... T 900 UG & 9 TehTel oo g fivdl 1 e &7l & 1 el Foolig 8 delet ekl ! bl Wicdied el

1 PR & (ol T
2. TicfafY & fefw amgH
3. O @I A

4. SEIET Bl HGH
Options :
22742735305. 1
22742735306. 2
22742735307. 3

22742735308. 4

Question Number : 53 Question Id : 2274279064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The exporting firm 15 termed ‘rider’ where the other firm with &n established distribution channe! in the target country is termed as ‘Carier’
This phenomenon is known as:

1. Counter Trade

2 Barter

3. Pigay Backing

4 Switch Trading
Options:
22742735309. 1
22742735310. 2
22742735311.3

22742735312. 4

Question Number : 53 Question Id : 2274279064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742735300. 1
22742735310. 2
22742735311.3

22742735312. 4

Question Number : 54 Question Id : 2274279065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
In International Commercial Terms (INCOTERMES), identify the one, under which the defivery of goods to the named place of

destination (discharge) takes place at the seller's expense. Buyers assumes the cargo insurance, import custom clearance, payment of custom
duties, taxes and other costs and risk

1. Carriage and Insurance Paid To (CIP)
2. Cost Insurance and Freight (CIF)

3. Carriage Paid To (CPT)

4 Costand Freight (CFR)

Options:

22742735313. 1
22742735314. 2
22742735315.3

22742735316. 4

Question Number : 54 Question Id : 2274279065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
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Options :
22742735313. 1
22742735314. 2
22742735315. 3

22742735316. 4

Question Number : 55 Question Id : 2274279066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which ratio, will the remaining partners compensate the retiring partner for a share of goodwill?

. Profit-sharing ratio
- Sacrificing ratio

. (Gaining ratio

. Capital ratio

L

P

Options :

22742735317. 1
22742735318. 2
22742735319. 3
22742735320. 4

Question Number : 55 Question Id : 2274279066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
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MguHH FiaR i B H TReR 5 WY Fisier 9 5 9 {6y srurd 3 ufagfd &<

1. T1Y Y HIoH U
2. TRT (L Br3fE) Surd
3. SAfYQTH 3FUa

4. USil SfgUTd

Options :

22742735317. 1
22742735318. 2
22742735319.3

22742735320. 4

Question Number : 56 Question Id : 2274279067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following accounting concepts and conventions consider i reasonable to use the historical cost to record long-lived assets?

1. The entity concept

2. Going concern convention
3. Materiality convention

4. The periodicity convention
Options :
22742735321. 1
22742735322. 2
22742735323. 3

22742735324. 4

Question Number : 56 Question Id : 2274279067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742735321. 1
22742735322. 2
22742735323. 3

22742735324. 4

Question Number : 57 Question Id : 2274279068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Luxmi industries issued shares of Rs 1000 at a premium of Rs 10 per share, payable Rs 20 on application, Rs. 35 on allotment (including

premium) and the balance on the first and final call. Mr. X who held 200 shares has paid only the application money and these shares ware
subsequently forfeited by the company. In this regard, by which amount share forfeiture account will be credited?

1.Rs. 4000

2 Rs. 2000

3 Rs. 3000

4 Rs. 200

Options:
22742735325. 1
22742735326. 2
22742735327.3

22742735328. 4

Question Number : 57 Question Id : 2274279068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1.34000

22000

333000

4300

Options :
22742735325. 1
22742735326. 2
22742735327.3

22742735328. 4

Question Number : 58 Question Id : 2274279069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following frameworks is considered as the Open International Standard for Digital Business Reporting?

1. CSR reporting
2. TBL reporting
3. XBRL reporting
4. PPP reporting

Options:

22742735329. 1
22742735330. 2
22742735331.3

22742735332. 4

Question Number : 58 Question Id : 2274279069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735329. 1
22742735330. 2
22742735331.3

22742735332. 4

Question Number : 59 Question Id : 2274279070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following statements is the most relevant to the substitution effect?

_In the real world, substitution effect is much larger than the income effect

- Most of the goods are not reasonable substitutes

_In reality, the income effect represents its predominance over the substitution effect
- Substitution and income effects cannot be separated easily

[ L

=

Options:

22742735333. 1
22742735334. 2
22742735335.3

22742735336. 4

Question Number : 59 Question Id : 2274279070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



WICRUTO UG & 9aY H g 5 9 SH-91 $Y= Taiids I77d 872

1. aRafddal H UioRITTS UHTG 319 UHd °d $ol i@ daleidl &

2. HTYHIY IEE JUIFIT 3Fded -Tel oldl &

3. dRadDdl H 3 WHIG JIawIT U419 TR YS! Haadl S Wi &3l o
4. TfRUTOA G 3119 YHTET 1 WRAdTgd e [Ger el [hdl off Ubdl &

Options :

22742735333. 1
22742735334. 2
22742735335.3

22742735336. 4

Question Number : 60 Question Id : 2274279071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

|dentify the source of oligopoly which is also applicable to monopoly firms:

1. Economies of scale may operate over a small range of outputs

2. Huge capital investments and specialized inputs are required to enter the market
J. Large firms may own a patent for the exclusive right to produce a commodity

4. New firms have chances to win customer loyalty

Options:

22742735337. 1

22742735338. 2

22742735339. 3

22742735340. 4

Question Number : 60 Question Id : 2274279071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735337. 1
22742735338. 2
22742735339.3
22742735340. 4

Question Number : 61 Question Id : 2274279072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following statements does not support the concept of third degree price discrimination?

1. The firm must have monopoly power

2. This type of price discrimination is most likely to occur in the manufacturing industries
3. The firm must be able to keep the two markets separate

4. The price elasticity and demand for the commodity must be different in the two markets

Options:

22742735341. 1
22742735342. 2
22742735343.3

22742735344. 4

Question Number : 61 Question Id : 2274279072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735341. 1
22742735342. 2
22742735343.3
22742735344. 4

Question Number : 62 Question Id : 2274279073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Which one of the following concepts measures the amount of capital that the firm can give up by using one additional unit of labour and stil
remain on the same isoquant?

1. Diminishing Marginal Rate of Substitution

2. Economic Trade-off Region

3. Diminishing Marginal Rate of Technical Substitution
4 Diminishing Marginal Utiity

Options:

22742735345. 1
22742735346. 2
22742735347.3

22742735348. 4

Question Number : 62 Question Id : 2274279073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742735345, 1
22742735346. 2
22742735347.3

22742735348. 4

Question Number : 63 Question Id : 2274279074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following theories of capital structure articulates that a firm borrows up to the point where the tax benefit from extra debt is exactly
equal to the cost that comes from the increased probability of financial distress?

1. The staic theary

2. Net income approach

3. Modiglian-Millr theory

4 Net operating income approach
Options:
22742735349. 1
22742735350. 2
22742735351. 3

22742735352. 4

Question Number : 63 Question Id : 2274279074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742735349, 1
22742735350. 2
22742735351. 3

22742735352. 4

Question Number : 64 Question Id : 2274279075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

When a target company makes a counter bid for the stock of the bidder, the defensive strategy in reference is called?

1. Greenmail
2. Poison pill
3. Pacman defense
4 Golden parachute

Options:

22742735353. 1
22742735354, 2
22742735355. 3

22742735356. 4

Question Number : 64 Question Id : 2274279075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735353. 1
22742735354. 2
22742735355. 3
22742735356. 4

Question Number : 65 Question Id : 2274279076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The eaming per share for Avanti corporation i Rs. 4.0. The rate of refurn on investments is 16 per cent and the retum required by
its shareholders is 12 percent. What will be the price per share as per the Walter mode! if the payout ratio is 40 per cent?

1.Rs24

2Rs 36

3 Rsd0

4 RsT2

Options:
22742735357. 1
22742735358. 2
22742735359. 3

22742735360. 4

Question Number : 65 Question Id : 2274279076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735357. 1
22742735358. 2
22742735359. 3
22742735360. 4

Question Number : 66 Question Id : 2274279077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following instruments is often used to protect the value of a foreign currency denominated transaction?

1. Forward contract

2. Forward swap

3. Forward hedge

4 Forward premium
Options:
22742735361. 1
22742735362. 2
22742735363. 3

22742735364. 4

Question Number : 66 Question Id : 2274279077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735361. 1
22742735362. 2
22742735363. 3

22742735364. 4

Question Number : 67 Question Id : 2274279078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A discrete probability distribution

_1s a listing of all possible values of the random variable

_assigns a probability to each possible value of the random variable
- can assume the value between -1 and +1

_Is iIndependent of the parameters of the distribution

[

=

Options:

22742735365. 1
22742735366. 2
22742735367.3

22742735368. 4

Question Number : 67 Question Id : 2274279078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735365. 1
22742735366. 2
22742735367. 3
22742735368. 4

Question Number : 68 Question Id : 2274279079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The price eamings ratio for firms in a certain industry follows the normal distribution. A firm's price-earmings ratio has a standardized value (Z) =
1.0and itis included in the highest of firms in the Industry

1.9973%

2 68.27%

31587%

4 3413%

Options:
22742735369. 1
22742735370. 2
22742735371.3

22742735372. 4

Question Number : 68 Question Id : 2274279079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1.9973%

2 68.27%

3.13.67%

4 3 13%

Options :
22742735369. 1
22742735370. 2
22742735371.3

22742735372. 4

Question Number : 69 Question Id : 2274279080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In one-factor ANOVA, the computed F-value will be negative

1. when there is no difference in the treatment of means

2. when there is no difference within treatments.

3. when 55T (total variance) is larger than SSE (error variance)
4 under no circumstances

Options:

22742735373. 1
22742735374. 2
22742735375.3
22742735376. 4

Question Number : 69 Question Id : 2274279080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735373. 1
22742735374. 2
22742735375. 3

22742735376. 4

Question Number : 70 Question Id : 2274279081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

In & certain population, 22% of peaple are smokers, 57% of people are males and 12% males are smokers. If & person is chosen at random from
the population, what is that probalty that selected parson is either a mals or a smoker?

1.079

202

3045

4 06T

Options:
22742735377. 1
22742735378. 2
22742735379.3

22742735380. 4

Question Number : 70 Question Id : 2274279081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742735377. 1
22742735378. 2
22742735379. 3

22742735380. 4

Question Number : 71 Question Id : 2274279082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Effective mentoring requires trust and the level of trust reflects the mentor’s:

1. Competence, consistency, communication abilities and control sharing readiness

2. Concemed, cooperativeness, communication abilities and coordination skills

3. Competence, consistency, complexity and communication abilities

4 Communication abilities, competence, concerned behaviour, control sharing readiness

Options:

22742735381. 1
22742735382. 2
22742735383.3
22742735384. 4

Question Number : 71 Question Id : 2274279082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735381. 1
22742735382. 2
22742735383.3
22742735384. 4

Question Number : 72 Question Id : 2274279083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Which one of the following consists of physical working conditions, work schedule, incentives and the number of people with whom the employes
waould normally infract?

1. Job profile

2. Jab content

3. Jab context

4 Job specification

Options:

22742735385. 1
22742735386. 2
22742735387.3

22742735388. 4

Question Number : 72 Question Id : 2274279083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742735385. 1
22742735386. 2
22742735387. 3

22742735388. 4

Question Number : 73 Question Id : 2274279084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following beliefs and behaviors does not characterise 'collectivism'?

1. Relations are moral not contractual

2. Relations take precedence over tasks

3. Individual opinions are independent of collective opinions
4 Maintaining harmony I1s highly valued

Options:

22742735389. 1
22742735390. 2
22742735391.3

22742735392. 4

Question Number : 73 Question Id : 2274279084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735389. 1
22742735390. 2
22742735391. 3

22742735392. 4

Question Number : 74 Question Id : 2274279085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Honeywell Inc’s move from a hierarchical management structure to a much flatier and team-based structure is a good description of which one of
the following?

1. Centralisation

2 Decentralisation

3. Span of control

4 Work specialization

Options:

22742735393. 1
22742735394, 2
22742735395. 3

22742735396. 4

Question Number : 74 Question Id : 2274279085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735393. 1

22742735394, 2

22742735395, 3

22742735396. 4

Question Number : 75 Question Id : 2274279086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Companies Use when they lack financial resources to carry out direct markefing and when they can eam more by doing 50

1. Intermediaries

2 Internationalisation

3. Influencers

4 Innovation
Options:
22742735397. 1
22742735398. 2
22742735399. 3

22742735400. 4

Question Number : 75 Question Id : 2274279086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742735397. 1
22742735398. 2
22742735399. 3

22742735400. 4

Question Number : 76 Question Id : 2274279087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following commitiees has suggested the establishment of NBFCs' regulatory framework?

1. Raj Study Group (1975)

2. Chakkravarty Committee (1985)
3. Vaghul Committee (1987)

4. Shah Committee (1992)
Options:

22742735401. 1
22742735402. 2
22742735403. 3

22742735404. 4

Question Number : 76 Question Id : 2274279087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742735401, 1
22742735402. 2
22742735403. 3

22742735404. 4

Question Number : 77 Question Id : 2274279088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The sequential stages of moral development in business organisations are characterised by

1. Conceptualised disposition, consistency and harmony, principled oriented
2. Consistency and harmaony, conceptualised disposition, principled oriented
3. Principled oriented, conventional and preconventional

4. Preconventional, conventional, principled oriented

Options:

22742735405. 1
22742735406. 2
22742735407.3

22742735408. 4

Question Number : 77 Question Id : 2274279088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735405. 1
22742735406. 2
22742735407. 3

22742735408. 4

Question Number : 78 Question Id : 2274279089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following are disposed to promote financial inclusion?

1. Poor quality of services rendered

2. High transaction costs

3. Universal access to financial services
4 Lack of trust in the system

Options:

22742735409. 1

22742735410. 2

22742735411.3

22742735412. 4

Question Number : 78 Question Id : 2274279089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427354009. 1
22742735410. 2
22742735411.3
22742735412. 4

Question Number : 79 Question Id : 2274279090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following digital payment systems is developed and managed by the National Payments Corporation of India?

1. Paytm

2. BharatPe
3. Mastercard
4 RuPay

Options:

22742735413. 1
22742735414. 2
22742735415.3

22742735416. 4

Question Number : 79 Question Id : 2274279090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1 UfeH (Paytm)

2. YId U (BharatPe)

3 ARSI@S (Mastercard)

4. %Y (RuPay)

Options :

22742735413. 1

22742735414. 2

22742735415. 3

22742735416. 4

Question Number : 80 Question Id : 2274279091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which amongst the following methods is not a method of generating sales leads in personal selling?

1. Referrals

2. Networking

3. Coupons

4 Cold calls
Options:
22742735417. 1
22742735418. 2
22742735419. 3

22742735420. 4

Question Number : 80 Question Id : 2274279091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735417. 1
22742735418. 2
22742735419. 3
22742735420. 4

Question Number : 81 Question Id : 2274279092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

fakes nfo account a host of inputs, such as buyer's mage of the product parformance, the channel deliverables, the warranty quality
customer support and softer atinbutes such as the suppliers reputation, trust worthiness and esteem

1. Target rate-of-return pricing

2 Auction-type pricing

3. Economic-value-fo-customer pricing
4 Competitive pricing
Options:
22742735421. 1
22742735422, 2
22742735423. 3

22742735424. 4

Question Number : 81 Question Id : 2274279092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742735421, 1
22742735422, 2
22742735423, 3

22742735424. 4

Question Number : 82 Question Id : 2274279093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The present value of future profits, the individual or segment will generate over a lifetime relationship with & brand or firm, is known as

1. Lifelong Value

2. Lifetime Value

3. Longlife Value

4 Longterm valug
Options:
22742735425. 1
22742735426. 2
22742735427.3

22742735428. 4

Question Number : 82 Question Id : 2274279093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742735425, 1
22742735426. 2
22742735427. 3

22742735428. 4

Question Number : 83 Question Id : 2274279094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
A chartable trust (registered under section 12 AB of the Income Tax Act) is registered under GST in New Delhi. [t provided yoga fraining to

middle-aged paople, coaching for Basket-ball fo tesnagers and skill development services to persons over the age of 65 years residing in New
Delhi in the month of July. This trust is liable to pay GST on:

1. Yoga training

2. Skill-development sarvices

3. Coaching for basket-ball

4 Coaching for basket-ball and Yoga training

Options:

22742735429. 1
22742735430. 2
22742735431.3

22742735432. 4

Question Number : 83 Question Id : 2274279094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742735429, 1
22742735430. 2
22742735431. 3

22742735432. 4

Question Number : 84 Question Id : 2274279095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following Is invalid for the relationship among the agent, the sub-agent and the principal?

1. Sub-agent works under the control and on the directions of the agent
2. Sub-agent is responsible to the agent only

3. Privity of contract exists between the principle and the sub-agent

4 Agent is responsible to the principle for the acts of the sub-agent

Options:

22742735433. 1
22742735434, 2
22742735435.3

22742735436. 4

Question Number : 84 Question Id : 2274279095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735433. 1
22742735434. 2
22742735435. 3
22742735436. 4

Question Number : 85 Question Id : 2274279096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In case of anti-competitive activities by a firm, the Compstition Commission of India can impose a penalty which shall be not more than

1. Five percent of the average turnover/income of the firm of the three preceding financial years.
2. Ten percent of the average tumover/income of firm of the three preceding financial years

3. Fifteen percent of the average turnoverincome of firm of the three preceding financial years
4. Five percent of the average tumover/income of firm of the five preceding financial years

Options:

22742735437. 1
22742735438. 2
22742735439.3

22742735440. 4

Question Number : 85 Question Id : 2274279096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735437. 1

22742735438. 2

22742735439, 3

22742735440. 4

Question Number : 86 Question Id : 2274279097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is an exception to the doctrine of Constructive Notice

1. Doctrine of Subrogation
2. Doctrine of Ultra Vires
3. Corporate Vel

4 Turquand Rule
Options:

22742735441. 1
22742735442. 2
22742735443, 3

22742735444 4

Question Number : 86 Question Id : 2274279097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



TS Fifed (g St &1 Rufafad § 9 $15-91 te 3udrg 82

2. JHfIPRI- [sid
3. PIORE L0

Options :

22742735441. 1
22742735442. 2
22742735443. 3
22742735444. 4

Question Number : 87 Question Id : 2274279098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

As per the sub-section (BA) of Section 139 of the Income Tax Act. & person may furnish an updated retum of his income for the previous year
relevant to stch assessment year, within from the end of assessment year?

1.6 months

2. 12 months

3. 24 months

436 months
Options:
22742735445, 1
22742735446. 2
22742735447. 3

22742735448. 4

Question Number : 87 Question Id : 2274279098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735445. 1
22742735446. 2
22742735447. 3

22742735448. 4

Question Number : 88 Question Id : 2274279099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Mr. X is holding aquity shares of ABC Ltd with voting power of 26 per cent. Mrs. X is working in ABC Lid at a salary of Rs. 20,000 p.m. The other

income of Mr. X and Mrs. X are Rs. 6,00,000 and Rs. 3,00,000, respectively. The gross fotal income of Mr. X and Mrs. X are ‘
respechively for the Assesment Year 2023-24.

1. Rs. 6.00.000 and Rs. 5.40,000

2. Rs.7,90,000 and Rs. 3.00,000

3. Rs. 6,00,000 and Rs. 4,90,000

4. Rs. 8.40.000 and Rs. 3,00,000

Options :

22742735449, 1
22742735450. 2
22742735451, 3

22742735452. 4

Question Number : 88 Question Id : 2274279099 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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1.36,00, 000 TG 35,40, 000
2.37,90,000 54 %3,00,000
3.36,00,000 54 %4,90,000
4.38.40,0004%3,00,000

Options :

22742735449. 1
22742735450. 2
22742735451. 3

22742735452. 4

Question Number : 89 Question Id : 2274279100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Every seller who receives an amount exceeding as consideration for sale of a motor vehicle, shall collect tax @ 1% of the
sale consideration from the buyer at the time of receipt of such an amount

1.Rs. 25 lakhs
2 Rs. 15 lakhs
3 Rs 10 lakhs
4 Rs. 50 lakhs

Options :

22742735453. 1
22742735454, 2
22742735455, 3

22742735456. 4



Question Number : 89 Question Id : 2274279100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :
22742735453. 1
22742735454, 2
22742735455. 3

22742735456. 4

Question Number : 90 Question Id : 2274279101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is the allowable deduction as per the Income Tax Act, 1961 in respect of entertainment allowance paid to a
qovemment employes?

1. Lower of one-fourth of basic salary or Rs. 5000 or entertainment allowance received.
2 Lower of one-fifth of basic salary or Rs. 5000 or entertainment allowance received

3 Lower of one-fifth of salary or Rs. 5000 or antertainment allowance received.

4 Lower of one-fourth of salary or Rs. 5000 or entertainment allowance received.

ne-f
ne-f

Options :

22742735457. 1
22742735458. 2
22742735459. 3

22742735460. 4



Question Number : 90 Question Id : 2274279101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735457. 1

22742735458. 2

22742735459. 3

22742735460. 4

Question Number : 91 Question Id : 2274279102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

For Forigen Direct Invastment, itis argued that a location in question attracts FDI bacause it combings the unique advantage of which of the
following conditions?

A Intemalisation Advantage

B. First Mover Advantage

C. Knowledge Advantage

D. Ownership Advantage

E Location Advantage

Choose the correct answer from the options given below:

1.E, Aand C Only
2 E Aand D Only
3. C Band D Only
4 C Eand D Only



Options :

22742735461. 1
22742735462, 2
22742735463. 3

22742735464. 4

Question Number : 91 Question Id : 2274279102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742735461. 1
22742735462. 2
22742735463. 3

22742735464. 4

Question Number : 92 Question Id : 2274279103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

Channel power is the ability to alter channel members' behaviour so that they take actions they would not have taken otherwise. From the
following channel powers, list the ones which are subjactive in nature:

A Legal Power

B. Coercive Power

C. Expert Power

D. Referent Power

E. Reward Power

Choose the correct answer from the options given below:

1.D,Aand C Only
2.0 Aand B Only
3 A Band E Only
4 A CandE Only

Options :

22742735465. 1
22742735466. 2
22742735467.3

22742735468. 4

Question Number : 92 Question Id : 2274279103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742735465, 1
22742735466. 2
22742735467. 3

22742735468. 4

Question Number : 93 Question Id : 2274279104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



SAFTA (South Asian Free Trade Agreement) categorises member nations as Non-Least Developed Contracting States (NLDCS) and Least
Developed Contracting States (LDCS). Identify the NLDSC states from the following

A Bangladesh

B. Pakistan

C. Bhutan

D. India

E Sn Lanka

Choose the correct answer from the options given below:

1.A Band D Only
2.A Cand E Only
3.E, AandB Only
4.E,Dand B Only

Options :

22742735469. 1
22742735470. 2
22742735471.3
22742735472. 4

Question Number : 93 Question Id : 2274279104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
227427354609. 1
22742735470. 2
22742735471. 3

22742735472. 4

Question Number : 94 Question Id : 2274279105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following ratios are critically significant for an investor
A. Debt-Equity ratio

B. Price-Eamning ratio

C. Dividend yield

D. Asset turnover ratio

E. Debtor turnover ratio

Choose the correct answer from the options given below:

1. A, Band C Only
2. D and E Only

3. B, Cand D Only
4 A DandE Only

Options :

22742735473. 1
22742735474. 2
22742735475. 3
22742735476. 4

Question Number : 94 Question Id : 2274279105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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4 HAdA D3IRE
Options :
22742735473. 1
22742735474, 2
22742735475. 3

22742735476. 4

Question Number : 95 Question Id : 2274279106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



By reducing the sales price from Rs. 80 per unit to Rs. 78 per unit, the sales manager has succeeded in seling 1000 units more of a product
Which of the following decisive conclusions can be drawn from this?

A. Sales price variance is unfavourable

B. Sales volume variance is favourable

C. Total sales variance is unfavourable

D. Sales activity variance is Rs. 80000 (favourable)

E. Sales price variance is Rs. 2000 (unfavourable)
Choose the correct answer from the options given below:

1.A Band C Only
2.C,Dand E Only
3. A Band D Only
4.B,Dand E Only

Options :

22742735477. 1
22742735478. 2
22742735479. 3
22742735480. 4

Question Number : 95 Question Id : 2274279106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
227427354771
22742735478. 2
22742735479. 3

22742735480. 4

Question Number : 96 Question Id : 2274279107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are considered as the limitations of Cost-Volume-Profit analysis?
A_ Constant selling price regardless of sales volume

B. Firm efficiency and productivity are constant and the costs are linear

C. Margin of safety is constant at varied levels of sales

D. Sales mix and the inventory levels are constant

E. Profit is constant at varied levels of sales price

Choose the correct answer from the options given below:

1. A Band C only
2.B, Cand D only
3. C, Dand E only
4 A BandD only

Options :

22742735481. 1
22742735482. 2
22742735483. 3

22742735484. 4

Question Number : 96 Question Id : 2274279107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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2 ®dd B, C AR D
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4 HIAA B3HRD

Options :

22742735481. 1
22742735482. 2
22742735483.3
22742735484. 4

Question Number : 97 Question Id : 2274279108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are relavant in technological innovations?

A Most innovations are incremental

B. Most innovations involve the commercial utilization of ideas

C. Innovations cannot be explained with isoquants

D. Introduction of innovations is not stimulated by strong domestic rivalry and geographic concentrations
E. The risk in introducing innovations is usually high

Choose the correct answer from the options given below:

1.B, D and E only
2. A CandE only
3. A BandE only
4 A BandConly

Options :

22742735485. 1
22742735486. 2
22742735487. 3
22742735488. 4

Question Number : 97 Question Id : 2274279108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735485. 1
22742735486. 2
22742735487.3
22742735488. 4

Question Number : 98 Question Id : 2274279109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are relevant in deciding among different courses of action, the manager needs to consider the differential revenue and
costs of attematives?

A. Opportunity costs and economic profits

B. Fixed and Sunk Costs

C. Marginal Revenue and Marginal Cost

D. Incremental and marginal costs

E. Economies and dis-economies of scale

Choose the correct answer from the options given below:

1.Aand D Only
2.Band G Only
3. Dand E Only
4 Aand B Only

Options :

22742735489. 1
22742735490. 2
22742735491. 3

22742735492. 4

Question Number : 98 Question Id : 2274279109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742735489. 1
22742735490. 2
22742735491, 3

22742735492. 4

Question Number : 99 Question Id : 2274279110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the reasons for substitution between domestic and MNC goods?
A Increased knowledge of foreign products due to international information revolution

B. No need to conduct advertising campaigns

C. Transportation costs having fallen to very low levels for most products

D. Restricted international travel

E. Tastes are consistent at the global level

Choose the correct answer from the options given below:

1. Aand C Only
2. D and E Only
3. Cand D Only
4 Aand B Only

Options :

22742735493, 1
22742735494, 2
22742735495. 3

22742735496. 4

Question Number : 99 Question Id : 2274279110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735493, 1
22742735494, 2
22742735495. 3
22742735496. 4

Question Number : 100 Question Id : 2274279111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are constituents of the trilemma of international finance?
A Fixed exchange rate

B. Independent monetary policy

C. Free mobility of capital

D. Global recessionary tendency

E. Rising inflationary conditions

Choose the correct answer from the options given below:

1. A, Band C Only
2.C,Dand E Only
3. B, Cand E Only
4 A CandD Only

Options :

22742735497. 1
22742735498. 2
22742735499. 3
22742735500. 4

Question Number : 100 Question Id : 2274279111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742735497. 1
22742735498, 2
22742735499, 3

22742735500. 4

Question Number : 101 Question Id : 2274279112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following factors are attributed to the weakening of Indian rupee?
A. Rupee payment for international trade

B. Rising cost of imports

C. Widening trade deficit

D. Opening of Rupee vostro accounts

E. Rupee UPI| payments for overseas transactions

Choose the most appropriate answer from the options given below:

1. A, Band C Only
2.C, Dand E Only
3. A DandE Only
4 B, Cand D Only

Options :

22742735501. 1
22742735502. 2
22742735503. 3

22742735504. 4

Question Number : 101 Question Id : 2274279112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735501. 1
22742735502. 2
22742735503. 3
22742735504. 4

Question Number : 102 Question Id : 2274279113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



When a country’s currency is accepted as a reserve currency, the potential conflict may arise between which of following policy objectives?
A. Domestic monetary policy

B. Domestic fiscal policy

C. Extemal currency policy

D. Foreign trade policy

E. Inland trade policy

Choose the correct answer from the options given below:

1.A B, and C Only
2.A Cand D Only
3.8, Dand E Only
4.C,Dand E Only

Options :

22742735505. 1
22742735506. 2
22742735507. 3

22742735508. 4

Question Number : 102 Question Id : 2274279113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742735505. 1
22742735506. 2
22742735507. 3

22742735508. 4

Question Number : 103 Question Id : 2274279114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In order to conduct exploratory data analysis, which of following are used by a researcher in the five number summary?
A Median

B. First quartile

C. Mean

D. Third quartile

E. Smallest and largest values

Choose the correct answer from the options given below:

1.A C, Dand E Only
2.A B, D, and E Only
3.8, C, D and E Only
4 A B, CandE Only

Options :

227427355009. 1
22742735510. 2
22742735511.3

22742735512. 4

Question Number : 103 Question Id : 2274279114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735500. 1
22742735510. 2
22742735511, 3

22742735512. 4

Question Number : 104 Question Id : 2274279115 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are considered while avoiding conflict?

A Conflict based on interpersonal relationships

B. All conflicts are not bad and can be taken positively

C. Conflict over content and goals of the work

D. Conflicts do not support a group’s goal and improve its performance
E. Conflict over how work gets done

Choose the correct answer from the options given below:

1. A, Band C Only
2. A BandE Only
3. A CandE Only
4 B, Cand D Only

Options :

227427355131
22742735514. 2
22742735515. 3
22742735516. 4

Question Number : 104 Question Id : 2274279115 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427355131
22742735514. 2
22742735515. 3
22742735516. 4

Question Number : 105 Question Id : 2274279116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of following are pre-experimental designs?

A. One-group pre test-post test

B. Pre-test post-test control group

C. Quasi-experiments

D. Static group comparison

E. After-only study

Choose the correct answer from the options given below:

1.D, B, C Only
2 A D, E Only
3. A, C, E Only
4 E,B, D Only

Options :

22742735517. 1
22742735518. 2
22742735519. 3

22742735520. 4

Question Number : 105 Question Id : 2274279116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742735517. 1
22742735518. 2
22742735519, 3

22742735520. 4

Question Number : 106 Question Id : 2274279117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following managerial actions are followed to reduce resistance to change?
A_ Education and communication are strong tools for resistance to change

B. Allows participation to those who oppose a change to participate in decision making
C. Negotiation may become vital when resistance comes from a powerful source

D. Employee counseling does not serve the purpose

E. Coercion can be used to get support easily

Choose the correct answer from the options given below:

1. A Band C Only
2. B, Cand D Only
3. B, Cand E Only
4 A CandD Only

Options :

22742735521. 1
22742735522. 2
22742735523.3
22742735524. 4

Question Number : 106 Question Id : 2274279117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735521. 1
22742735522. 2
22742735523.3
22742735524. 4

Question Number : 107 Question Id : 2274279118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are objectives of Inmediate Payment Service (IMPS)?

A. To enable bank clients to use mobile instruments as a channel for accessing their bank accounts and remit funds
B. To build the foundation for a full range of mobile based banking services.

C. To sub-serve the goal of Reserve Bank of India (RBI) in digital payments.

D. To make payments simpler with the mobile number of the baneficiary

E. To restrain a nation-wide payment system facilitating one-to-one funds transfer

Choose the most appropriate answer from the option given below:

1.A C, D and E Only
2.A B CandD Only
3.B,C, D and E Only
4 B,A EandD Only

Options :

22742735525, 1
22742735526. 2
22742735527.3

22742735528. 4

Question Number : 107 Question Id : 2274279118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735525, 1
22742735526. 2
22742735527.3

22742735528. 4

Question Number : 108 Question Id : 2274279119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are functions of the Reserve Bank of India?
A_Bank of issue

B. Banker's bank and lender of the last resort

C. Regulator of fiscal policy

D. Controller of credit

E. Custodian of foreign exchange reserves

Choose the most appropriate answer from the option given below:

1. A, B, CandD Only
2. A B, DandE Only
3. B, C, DandE Only
4 A BandD Only

Options :

22742735529. 1
22742735530. 2
22742735531. 3
22742735532. 4

Question Number : 108 Question Id : 2274279119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fafafad § 9 #H-%1 HRAY 9d @ & d9aad o

A g1 A 9% (d@ $ie 39)

B. T @1 s AR B 2ifaq 3nyg

C. IGH NI Aid @ HaH®

D. thise @ Fda®

Ji feu 7o faeegl § 9 981 3R &1 999 Sifeu

1. ®adA B, C 3R D
2 ®dd A B, D3RE
3 ®ddB C DIIRE
4 HIAA B3HRD

Options :

22742735529. 1
22742735530. 2
22742735531. 3

22742735532. 4

Question Number : 109 Question Id : 2274279120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The concept of product life cycle is based on which of the following key assumptions?

A Profits remain stable t different stages of product life cycle

B. Products have an unlimited life

C. Product sales pass through distinct stages, each posing different challenges, opportunites and problems to the seller

D. Products require different marketing, financial, manufacturing, purchasing and human resource strategies in each of the life cycle stages
E. Products have a limited life

Choose the most appropriate answer from the option given below:

1.B,Cand D Only
2.A BandC Only
3. A, Cand D Only
4.C,Dand E Only

Options :

22742735533, 1
22742735534. 2
22742735535. 3

22742735536. 4

Question Number : 109 Question Id : 2274279120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735533, 1
22742735534. 2
22742735535. 3

22742735536. 4

Question Number : 110 Question Id : 2274279121 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Emotional appeal is one of the types of advertising appeals, based on three ideas, namely
A Rational appeals generally go unnoticed

B. Consumers watch all ads

C. It can capture attention and foster an attachment

D. Consumers ignore most ads

E. Rational appeal generally gets noticed

Choose the correct answer from the options given below

1. C, E, and D Only
2.C, EandB Only
3. C,Aand D Only
4. C,AandB Only

Options :

22742735537. 1
22742735538. 2
22742735539. 3
22742735540. 4

Question Number : 110 Question Id : 2274279121 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HIaTTH® e Fafeiag e 34 faari = g fage sl #1036 YR &
A faaequl el W g eH el e o 8

B. 3uHigar gHi fagmoi i cEd &

C. U8 & ATHIUd Bl & 3R Yowal &1 UIe0 Hidl &
D. SUHid USRI faqmu=i &1 IUaT & ©

E. faasqul el iR gH=Iar e G Srar 8

=t fau U fadbedl & 4 U1 IR &1 99 Bl

1. »ad C, E 3R D
2 ®dd C, EARB
3. ®add C, AIRD
4 HAAC AR B

Options :

22742735537. 1
22742735538. 2
22742735539. 3

22742735540. 4

Question Number : 111 Question Id : 2274279122 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which are the states where every supplier of goods and/or services is required to obtain registration if his aggregate tumover exceeds the
threshold fimit of Rs. 20 lakh for supply of goods and/or services?

A Arunachal Pradesh

B. Meghalaya

C. Manipur

D. Mizoram

E Sikkim

Choose the most appropriate answer from the option given below:

1.6, Cand AOnly
2.C,Dand E Only
3.E, BandAOnly
4 A Band D Only

Options :

22742735541. 1
22742735542. 2
22742735543. 3
22742735544. 4

Question Number : 111 Question Id : 2274279122 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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) &FC DIARE
3 BT0E BATA
4 FTTA BIRD
Options :
22742735541. 1
22742735542, 2
22742735543, 3

22742735544. 4

Question Number : 112 Question Id : 2274279123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following can become the member of an LLP?
A_Resident Indians

B. Limited Liability Partnership

C. Corporation Sole

D. Co-operative society

E. Companies (including foreign companies)

Choose the most appropriate answer from the option given below:

1. A, Band C Only
2. A CandD Only
3.A BandD Only
4 A EandB Only

Options :

22742735545, 1
22742735546. 2
22742735547. 3
22742735548. 4

Question Number : 112 Question Id : 2274279123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A et HRAIE

B. THiffd gt 9EieR]
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T

D. He®RI HH

E. $ufa (fageh Hufat afga)

< fGu 7Tt fgweal § © 921 SR @1 999 Pifere

1. $ddA B3R C
2 HadA C3RD
3. ®adA B3RD
4 HadA E3RB
Options :
22742735545, 1
22742735546. 2
22742735547. 3

22742735548. 4

Question Number : 113 Question Id : 2274279124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The trademarks can be broadly classified into which of the following categories?
A Descriptive

B. Normative

C. Generic

D. Explanatory

E. Invented

Choose the most appropriate answer from the option given below:

1. A, Band D Only
2.D, Eand C Only
3. B, Cand E Only
4 C,Aand E Only

Options :

22742735549. 1
22742735550. 2
22742735551. 3
22742735552. 4

Question Number : 113 Question Id : 2274279124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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D. OMTH®

E. fifaHd

=t fau U fadedi & I Ug1 IR &1 99 Bifog

1. $dd A B3R D
2 ®adD E 3R C
3. ®ad B C3iRE
4 HAAC ASRE
Options :
22742735549, 1
22742735550. 2
22742735551. 3

22742735552. 4

Question Number : 114 Question Id : 2274279125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are deemed to be dividend for the purpose of computing income chargable under the head, ncome from other sources, as
per the Income Tax Act 19617

A. Payment on buy-back of shares

B. Payment o shareholders on reduction of capital

C. Distribution of debentures to shareholders

D. Loan granted to shareholders in the ordinary course of business
E. Loan granted to shareholders by a closely held company
Choose the correct answer from the options given below:

1.Band C Only
2.B,Cand E Only
3. A Band C Only
4 Aand C Only

Options :

22742735553. 1
22742735554. 2
22742735555. 3

22742735556. 4

Question Number : 114 Question Id : 2274279125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1 HIABAMC
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4 TITAIRC
Options :
22742735553, 1
22742735554, 2
22742735555. 3

22742735556. 4

Question Number : 115 Question Id : 2274279126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following will be clubbed into the income of Mr. Q whose Income from Profession is Rs. 85,0007
A Income from Mrs.Q's profession, Rs. 45,000

B. Mrs. Q's salary as a clerk, Rs. 66,000

C. Minor son's earned interest on deposits of money gifted to him by his uncle, Rs. 15,000

D. Minor daughter's earnings from sports, Rs 85,000

E. Minor son's winnings from lottery, Rs 1,05,000

Choose the correct answer from the options given below:

1.A,C,DandE Only
2.C, D and E Only

3. Cand D Only

4. C and E Only

Options :

22742735557. 1
22742735558. 2
22742735559. 3

22742735560. 4

Question Number : 115 Question Id : 2274279126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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C. 3G® 0w TA FRT S IR T U1 s4T ford 30 el §RT SUGR Wy {1 711 4T, 345000
D. U P &1 9d § W 31, 285000

E. 3a0% [ @I dlic siia- W et W, T1,05000

14 feU U fadedl 5 ¥ T2 IR o1 97 DIy

1. BadA C, D IRE
2 $9dC,DIRE
3. %ad C ARD

4 599 C IRE

Options :

22742735557. 1
22742735558. 2
22742735559. 3
22742735560. 4

Question Number : 116 Question Id : 2274279127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List [l

List | Listll
Nature of Business Activity FDI Permitted under Automatic Route

A. Trading in Transferable Development Rights (TDR)|l. 49%

B. Multi-Brand Retail Trading II. Prohibited
C. Satellite (Establishment and Operations) . 51%
D. Petroleum Refining (by PSUs) V. 100%

Chose the correct answer from the option given below:

1.A-IV,B-1l, C-1ll, D-1
2 A-1l,B-I, C-1V, D-1
3A-1,B-1IlC-11I,D- IV
4 A-IV, B-1I, C-1,D-1ll
Options :
22742735561. 1
22742735562. 2
22742735563. 3

22742735564. 4

Question Number : 116 Question Id : 2274279127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tl -| & Y Gl -1l e S

It -l gt -l

wEEaE fhan I H1HH % Aaid Wihd TRSITS
A il e SfEeR (CieleiR) # o |I. 49%

B. §g-8i8 Ha SR IR IGEITG]

C. 3Y99% (B9 Ud HdreH) Il 51%

D. Ucifers givanemmmen (4iEe] RI) V. 100%

4 feu U fadedl § © Tt 3a) & 9a- &1

1. AV, B-Il. C-lII. D-l
2 Al B-lll, C-IV. D-l
3. A Bl C-Il, D-IV
4 AV, B1. C-1, D-IlI



Options :

22742735561. 1
22742735562 2
22742735563. 3
22742735564. 4

Question Number : 117 Question Id : 2274279128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List I

List | Listll
Activity Based Cost Centers  |Costs incurred and accounted for

A_ Unit-level activity center  |I. Patent, trademark and copyright fees

B. Batch level activity center |II. Direct material and labour costs

C. Product level activity center)lll. Plant depreciation and maintenance expenses

D. Facility level activity center |IV. Material handling costs

Chose the correct answer from the option given below:

1Al B-IV.C-I,D-1
2 A-1l, B-IV, C-1ll, D-1
3A-1,B-1IlC-11I,D- IV
4 A-1ll, B-1, C- 1V, D-1l
Options :
22742735565. 1
22742735566. 2
22742735567. 3

22742735568. 4

Question Number : 117 Question Id : 2274279128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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C. IIE TR ATy &g (I SO Hed 519 iR SR&0 o

D. GiayT TR Tiafaiy ox IV, THUT W8y T

T feu U fadedl § © Tt 3a) & 9a &1

1. All, B-IV, C-l, D-IlI
2. Al B-IV, C-lII, D-
3. A, B, C-NI, DAV
4. AJll, B, C-IV, D-lI

Options :

22742735565. 1
22742735566. 2
22742735567. 3
22742735568. 4

Question Number : 118 Question Id : 2274279129 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List [l

List | List Il

Types of Effect Description

A_Veblen effect |. Conspicuous consumption

B. Snob effect Il. Reduction in relative price of commodity

C. Bandwagon effect|lll. Negative network externality

D. Substitution effect|l\. Positive network externality

Chose the correct answer from the option given below:

1.A-1,B-1I, C-ll, D- IV
2. A-IV,B-1Il, C-11, D-1
3. A1, B-1II, C- IV, D- |
4 A-1, B-1Il, C- IV, D-1I



Options :

22742735569. 1
22742735570. 2
22742735571. 3

22742735572. 4

Question Number : 118 Question Id : 2274279129 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. A, B-ll, C-ll, DIV
2. AV, B-lll, C-ll, D-I
3. A-ll, B-lIl, C-IV, D-|
4 Al B-lll, C-IV, D-lI
Options :
22742735569. 1
22742735570. 2
22742735571.3

22742735572. 4

Question Number : 119 Question Id : 2274279130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List I

Listl Listll

Bond rates and risk |Description

A Coupon rate . The interest rate required in the market on a bond

B. Yield to maturity  |Il. It is obtained by dividing annual coupon (stated interest payment) by the bond price
C. Interest rate risk  [lll. It germinates and originates from fluctuating interest rates

D. Current (bond) yield|l'V. The annual coupon (stated interest payment) divided by the face value of a bond
Chose the correct answer from the option given below:

1.A-IV,B-1, C-1ll, D-1I
2. A1l B-1l,C-1,D- IV
3. A-1Il, B-1I, C- IV, D-1
4 A-1 B-1ll, C-11,D- IV
Options :
227427355731
22742735574. 2
22742735575. 3

22742735576. 4

Question Number : 119 Question Id : 2274279130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. AV, B-I, C-lll, D-Il
2. Al B-lll, C-1, D-IV
3. Al B, C-IV, DA
4 Al B-II, C-ll, D-IV




Options :

22742735573. 1
22742735574, 2
22742735575. 3

22742735576. 4

Question Number : 120 Question Id : 2274279131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List Il

List | Listl

Description Identifiers Research design

A_ The time dimension I. Exploratory study

B. The purpose of the study 1. Statistical study

C. The topical scope of the study lll. Descriptive study

D. The degree to which the research question has been crystallized|lV. Cross-sectional study

Chose the correct answer from the option given below:

1. A1, B-1l,C-lll, D- IV
2. A1, B-1, C- IV, D-1i
3 A-IV.B-1I,C-1l, D-1
4 A-1l, B-IV, C-1, D-1I
Options :
22742735577. 1
22742735578. 2
22742735579. 3

22742735580. 4

Question Number : 120 Question Id : 2274279131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. A, B-ll, C-ll, DIV
2. All, B-I, C-IV, D-lI
3. AV, B-lll, C-ll, DI
4 Al B-IV, C-1, D-lI
Options :
22742735577. 1
22742735578. 2
22742735579. 3

22742735580. 4

Question Number : 121 Question Id : 2274279132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List [l

List | Listll
Management Thinkers|Approach Dimensions

A. Kurt Lewin I. Position power, Task structure, Leader member relations
B. Fred E Fiedler Il. Authority and Responsibility, Unity of command, Scalar chain
C. Henri Fayol Ill. Power, Affiliation, Achievement

D. David C. McClelland |IV. Unfreezing, Moving, Refreezing

Chose the correct answer from the option given below:

1.A-1,B-1I, C-ll, D- IV
2. A-IV,B-1, G-I, D- 1l
3. A-IV,B-1Il, C-1, D-1I
4 A-Il, B-IV, C-1ll, D-1



Options :

22742735581. 1
22742735582 2
22742735583. 3
22742735584. 4

Question Number : 121 Question Id : 2274279132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tt -1 & Y G -1l e sifee
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1. A, B-ll, C-ll, DIV
2. AV, B-I, C-II, D-lI
3. AV, B-lll, C-l, D-lI
4 A-ll, B-IV, C-lll, D-I
Options :
22742735581. 1
22742735582. 2
22742735583. 3

22742735584. 4

Question Number : 122 Question Id : 2274279133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

List | List Il

Asset classes [Type of Investments

A Asset Class A |I. Equity shares of companies traded in futures and options segmenets

B.Asset Class C|ll. Government securities and state development loans

C. Asset Class E|lll. Alternate Assests

D. Asset Class Gl ~omorate bonds/debentures which are listed and rated not below A

Chose the correct answer from the option given below:

1.A-1,B-Iv, C-1l, D-11I
2 A1l B-1I, C-IV, D-1
3 AL B-IV, C-1,D-1i
4 A-1,B-1l, C-1l, D-IV
Options :
22742735585. 1
22742735586. 2
22742735587. 3

22742735588. 4

Question Number : 122 Question Id : 2274279133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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T feu U fadedl § © Tt 3a) &1 9a @1

1. Al B-IV, C-ll, D-IlI
2. Al B-I, C-IV, D-
3. Al B-IV, C-1, D-II
4 A, B-II, C-II, DIV

Options :

22742735585. 1
22742735586. 2
22742735587. 3

22742735588. 4

Question Number : 123 Question Id : 2274279134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

List | List Il

Concepts (Targeting) Definition

A. Target Compatibility ||. Reflects the ability of a market segment to create superior value for the company

B. Tactical Targeting  |Il. A reflection of the company's ability, to create superior customer value

C. Target Attractiveness|lll. Focuses on customising company's offerings according to the customers' needs

D. Strategic Targeting |IV. Ways in which the company can reach strategically important customers

Chose the correct answer from the option given below:

1.A-1 B-1l, C-1Il,D- IV
2 A-ll,B-Iv. C-1, D-1Il
3 A-ll,B-1Il, C-1.D-IV
4 A-IV B-1ll, C-1I, D-1
Options :
22742735589. 1
22742735590. 2
22742735591. 3

22742735592. 4

Question Number : 123 Question Id : 2274279134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. A, Bl CIl DV
2. Al B-IV, C-, DIl
3. Al B-Il, G-I, DAV
4. AV BAII, C-lI, D-

Options :

22742735589. 1
22742735590. 2
22742735591. 3

22742735592. 4

Question Number : 124 Question Id : 2274279135 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List Il

List| Listll

Features Remedies for breach of contract
A Breach of promise to marry |. Suit for injuction

B. Part performance (as much as eamed) Il. Rescission of contract

C. Absolvation from all obligations lll. Sue for quantum meruit

D. Mode of securing the specific performance of negative terms of contract|lV. Vindictive damage

Chose the correct answer from the option given below:

1. A-IV.B-1ll C-1I, D-1
2 A-1B-1II, C-1ll D-IV
3. A-Ill, B-IV. C- 1, D-1i
4 A1l B-1,C-1V. D-1I



Options :

22742735593, 1
22742735594, 2
22742735595, 3
22742735596. 4

Question Number : 124 Question Id : 2274279135 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. A-IV, B-lll, C-ll, D-I
2. A, B-ll, CJIl, DIV
3. AJll, B-IV, C-, D-ll
4 Al B, CV, D-1lI
Options :
22742735593. 1
22742735594, 2
22742735595. 3

22742735596. 4

Question Number : 125 Question Id : 2274279136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List II

List| Listll

Assets Transferred Exemptions of capital gains Sections 54-54 EC Income Tax Act
A. Agricultural Land |. Section 54 B

B. Residential House II. Section 54 EC

C. Land or Building or Both IIl. Section 54 D

D. Land and Building forming part of an industrial undertaking|lV. Section 54

Chose the correct answer from the option given below:

1. A-1ll, B-1I, C-1,D- IV

2. A-1 B-Iv,C-1l D-1I
3. A-IV.B-1Il, C-1,D-1l
4 Al B-1, C-IV D-1I
Options :

22742735597. 1
22742735598. 2
22742735599. 3

22742735600. 4

Question Number : 125 Question Id : 2274279136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tt -1 & 91y Gt -1l e Biferg

it - It -II

TG qieEgadl ST HAgH B Yol aTHl 4T 54-54EC) 8 WK B
A T HH |. T 54 B

B. ETE 8 Il 4RT 54EC

C. yfH @ ya= argEl lIl. §RT 54D

D. faseht sieifires Suma & 4fEy ud wa |1V, e 54

T fGT 77T f9dedl | © U5l IR & 999 B

1. Al BN, G-, D-IV
2. A, B-IV, C-lI, DA
3. AV, B-ILL C-, DA
4 Al B-1, C-IV, D-lI



Options :

22742735597. 1
22742735598. 2
22742735599. 3

22742735600. 4

Question Number : 126 Question Id : 2274279137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following rounds for multilateral trade negotiations under GATT/WTO in a chronological order.
A Kennedy

B. Doha

C. Annecy

D. Torquay

E. Tokyo

Chose the correct answer from the option given below:

1.C,D,AEB
2D CEAB
3 B,AECD
4 B,EAD,C

Options :

22742735601. 1
22742735602. 2
22742735603. 3
22742735604. 4

Question Number : 126 Question Id : 2274279137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

SIEcIclgacy €1 ol & Sciid IgUaid SR GRI &I YHIIYR $HH H o0aieyd Sifet
A B3I

CRAG

C. G

D. TP

T

d feu e fdomedl § 9§ 98! SR &l 991 &1

1.C,D,A E B
2D CEAB
3BAECD
4B, EADC

Options :

22742735601. 1
22742735602, 2
22742735603. 3
22742735604. 4

Question Number : 127 Question Id : 2274279138 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the steps in the book building process for public issue of shares in India.

A Determine issue price, market clearing price and price discovery

B. Book runner and syndicate members generate awareness, create demand and run the order book

C. Appointment of the merchant banker and syndicate members (SEBI registerd intermediaries) as underwriters
D. Preparation and filing of red herring propectus with the SEBI for approval

E. Allotment and listing of shares on stock exchange (s)

Chose the correct answer from the option given below:

1.C,D,BAE
2D,CABE
JABCDE
4B CDEA

Options :

22742735605. 1
22742735606. 2
22742735607. 3

22742735608. 4

Question Number : 127 Question Id : 2274279138 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YRATT IR & Fdoid 70 & 981 QAR B & FHEfeigd U & gedayd difag|
A. 19 @ $IFG, SISR (GHIIEH) HIFG ST FHUR0 3R HIHd Fau0
B. 5 TR AR Rif3te Yow SHurreadl Ual $Xd o, HfT 307 Bd ¢ AR A1faP Sol &1 TdleH B3d ¢

C. Fac 8@ AR daiel & w0 H RifEde T (G tofipd ofa Tegan) 1 Fgfad
D. Wil & fow Tl (w9 3 &t 311) & 1y ¥ B faer ] &1 JuR &1 SR S &
E. IR IWRI H [ &1 2A1de 3R iR

A &0 T fadedl # @ Tl IR @1 99 B

1.C,D,BAE
2.D,C,ABE
3 A B CDE
4B,CDEA

Options :

22742735605. 1
22742735606. 2
22742735607. 3

22742735608. 4

Question Number : 128 Question Id : 2274279139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following in a sequence with regard to price leadership sustainability:
A. Small firms in the industry are allowed to sell all they want at that price

B. Dominant firm acts as the residual supplier of the commodity

C. The dominant firm sets the price for the commodity that maximizes its profits
D. Small firms in the industry behave as price takers

E. Dominant firm then comes into fill the market

Chose the correct answer from the option given below:

1.A,B,C,DE
2 EDCBA
3A,CBDE
4 C,AE BD

Options :

227427356009. 1
22742735610. 2
22742735611.3
22742735612. 4

Question Number : 128 Question Id : 2274279139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



DIAd g YRVl & 94 H FHEfiad & S HHUR HaiRyd Sifeg:
A. BTl Sl &I IR H S d 918 Iad SIHd R & 994 &1 A Bldl &
B. Wad &1 HId & HIRP Hfded] & U H $1Y Hdl &

C. Uad U1 A Bt 98 BAd Fad &dl & o 39D TP & Hdad 2

D. 351 ¥ B1d Suf-Ti $1Hd a4 aId (Wsd 7o) & ¥4 § OdeR #dl &

E. 3{dd: Ugd ®U-1 9R &1 Y3 o [ 987 3Tl ©
d feu 70 fa@eal § © 9ol 3O &1 999 &Y

1.A,B,C,DE
2 EDCBA
3A,CBDE
4 C,AE BD

Options :

227427356009. 1
22742735610. 2
22742735611.3
22742735612. 4

Question Number : 129 Question Id : 2274279140 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Sequentially arrange the following impacts of the evolving global monetary system on the economies.
A Protectionism and nationalism

B. Capital flows driving economic development

C. Increased world trade with limited capital flows

D. Expanded open economies

E. Industrial economies increasingly open and emerging nations open slowly

Choose the correct answer from the option given below:

1.B,D,A,C E
2.C,ADEB
3 C,EDAB
4 EBDAC

Options :

22742735613. 1
22742735614. 2
22742735615. 3
22742735616. 4

Question Number : 129 Question Id : 2274279140 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SrfogawTadt R faraH 3y e qore & Fg gl & A e w4 U oaid il
A ERE/UTETE 3 TG

B. §uil %aTE © Gaferd e faerg

¢. Hifd 4oft ware ¥ afsd fay amR

D. fawaiRa e srefomamunt
E. 3o srforawail o1 i 9o 51 @ b g1 o1 srforawat R4 g g
14 feU T fadedi § 9 T8 SR &1 997

1.B,D,A,C. E
2CADERB
3.C,EDAB
4 EBDAC

Options :

22742735613. 1
22742735614. 2
22742735615. 3

22742735616. 4

Question Number : 130 Question Id : 2274279141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following steps of a well planned experiment in the sequential order.
A Specify the treatment levels

B. Assign subject to groups and conduct pilot test

C. Choose an experimental design suited to the hypotheses

D. Control the environmental and extraneous factors

E. Select relevant variables for testing

Choose the correct answer from the option given below:

1.C,D,EAB
2ACDEB
3 EEADCB
4 D C BAE

Options :

22742735617. 1
22742735618. 2
22742735619. 3
22742735620. 4

Question Number : 130 Question Id : 2274279141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



D

Ud giFgieTd J99- & FgfaRad dedl &1 HHMUR Hdaiedd $ifeg
A. Tad=H Rl &1 AR
B. Tig! &1 faud TiyAT 3R +1f (Urgde) Tam &A1

C. Wiah A & feiU Iugdd WIS HiHdbed &l 9g

D. gaiaRuiiy g d1el Rl & g

E. TR1&101 8¢ TTd 911 o1 90

T feu U deagi 5 9 98 SR @1 909 &L

1.C,D,EAB
2ACDEB
3 EEADCB
4 D C BAE

Options :

22742735617. 1
22742735618. 2
22742735619. 3
22742735620. 4

Question Number : 131 Question Id : 2274279142 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following group member's behavior outcomes in & sequence as per the successive stages of group building process.
A Eager, Anxious, Gather data about similarities and differences among members and keep things simple

B. Upset and Depressed

C. Less dissatisfied and a feeling of belongings to the group

D. Confront the differences, feel angry or frustrated  lot of competition and hostilities.

E. Inter dependence in personal relations, tendency to get involved in and problem solving

Choose the correct answer from the option given below:

1.ADCEB
2ABCDE
3.ECDBA
48 CEAD

Options :

22742735621. 1
22742735622. 2
22742735623. 3

22742735624. 4

Question Number : 131 Question Id : 2274279142 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e Tad & Y GagR TR &1 G A0 Bl o Tad 901 o SF9R oaied Sl

A 30, O, Tol o g @ Qe R AR & g H Y U B39 il Bl 9Xa  aredd ol
B. 3fid @ fawread

C. BH HGqP 3R THE & HaYH BT W1

D. 3R B THIH, HIT SUa S BT, Fid TG @ T

E. 3ufde a4 H Sfaf R, Jafdy g4 o waftl @ g eyH

il UL faedl & ¥ TE1 IR @ T B

1.ADCEB
2ABCDE
3ECDBA
4 B,CEAD

Options :

22742735621. 1
22742735622. 2
22742735623. 3
22742735624. 4

Question Number : 132 Question Id : 2274279143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following SBl-sponsored RRBs in an increasing order of their existence since formation.
A. Rajasthan Marudhara Gramin Bank

B. Telangana Gramin Bank

C. Sausashtra Gramin Bank

D. Madhyanchal Gramin Bank

E. Arunachal Pradesh Rural Bank

Choose the correct answer from the option given below:

1.A,D,B,E C
2CEDAB
3. B,ACED
4 D EABC

Options :

22742735625. 1
22742735626. 2
22742735627. 3

22742735628. 4

Question Number : 132 Question Id : 2274279143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frofeiad Taelas R WEio 3R R 8 I 39 T 34 & 96d 5U HH § oaRd DI
A. ToRYH FER T §6

B. dGTHT AHT 5@

D. A THT §8

E. 3fT0I9d Yo ©1d 8@
J= Rum e A 3 Ot TR ST ITT N

1.AD,B,EC
2.CEDAB
3.B,ACED
4 D,EABC

Options :

22742735625. 1
22742735626. 2
22742735627. 3
22742735628. 4

Question Number : 133 Question Id : 2274279144 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Place the following service differentiators in a logical sequence:
A Speed and timing of delivery

B. Maintenance and repair

C. Retumns

D. Installation, training and consulting

E. Ease of ordering

Choose the correct answer from the option given below:

1.E,D,B,C A
2 EADB,C
3E,DACB
4 E,C,ABD

Options :

22742735629. 1
22742735630. 2
22742735631. 3

22742735632. 4

Question Number : 133 Question Id : 2274279144 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



S e e >

Hufaiad UaE Yal-fquea! & difhd 3sHH TSy

A. Qe &1 71fd v 9e

B. TE¥W@d Ud AYHTd
C. araEt
D. IO WIRI&0 Ud TRHEH

E. S H marE

4 feu e fadedl § 4 98t 3R &1 999 &1

1.E,D,B,C A
2 EADB,C
3E,DACB
4 E,C,ABD

Options :

22742735629. 1
22742735630. 2
22742735631. 3

22742735632. 4

Question Number : 134 Question Id : 2274279145 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following steps in the investigation process of combinations by the Competition Commission of India in the correct order.
A Call for a report from the Director General

B. Invite any person, affected parties to file writien objections

C. Direct the parties of combination to publish details of the combination

D. Call for additional information from the parties of the combination

E. Issue & nofice for show-cause to the parties of the combination

Choose the correct answer from the option given below;

1.AB,CDE
2EACBD
JBACDE
4CADEB

Options :

22742735633. 1
22742735634. 2
22742735635. 3

22742735636. 4

Question Number : 134 Question Id : 2274279145 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e e -

YR wfceasf S gR1 SaivH! @ Wi Uil & FgfoRad T (Gumn) I 9ot %9 8 sl

A FRIFCT® ¥ Higde Al

B. foredt +ft safda. wwifad vy & fofea oo oo & & faw s

C. TaIoH-Ua & TGIoH & fa%gd [IaRu & Tarid &3 5 FeR &=

D. TOie-usl ¥ 2fafad SHeR A
E. 9 U&T & HRU garsl & g 9 &
i 5T 0 fawed & § T5t SR @1 997 @

1.A,B,C,D,E
2.EACBD
3 B,ACDE
4 C,ADEB

Options :

22742735633. 1
22742735634. 2
22742735635. 3

22742735636. 4

Question Number : 135 Question Id : 2274279146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following in the ascending order of applicable TDS (Tax deducted at source) rates for the Financial Year, 2023-24.
A. Payment of Rs. 6,55,000 rent by an individual in a year

B. Payment of Rs 20,000 on winnings from horse races

C. Payment of Rs 6,000 as dividend by cheque

D. Payment of Rs. 35,000 to an individual contractor for repair by a university

E. Payment of Rs 38,000 as fees for professional and technical services by a call center

Choose the correct answer from the option given below:

1.ABCDE
2D,EACB
3.E,D,C,BA
4 AECDB

Options :

22742735637. 1
22742735638. 2
22742735639. 3

22742735640. 4

Question Number : 135 Question Id : 2274279146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fareiTg 99 2023-24 & o0 Uy AIS10H (T1d W S1eT 71 &%) &3 @I AR HH H dayd Sivg
A Tl oafd g1 39 a9 § 36,55,000 fobTU o 9 | foam 711 YA

B. 43618 ¥ ofidl Tl ¥HH & & H 120,000 BT YTAH

C. 9@ gRI T4 & ¥Y H 8,000 &1 YA

D. ol fasfaaera R #ewd o o7 fpell SohaR 1 235,000 1 HTdH

E. forddl d1et Tex GRI Tdh-idb1 Garafi o fore ot UiaR &1 238,000 e 1 a1 711 YTaH

2 feu T fadegl # 9 951 SR FI TR

1.A,B,C,D, E
2D,EACB
3.E,DCBA
4 AECDB

Options :

22742735637. 1
22742735638. 2
22742735639. 3
22742735640. 4

Question Number : 136 Question Id : 2274279147 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(Given below are two statements: one Is labelled as Assertion A and the other is labelled as Reason R
Assertion A: A promater, invariably 1s the one who has been associated with formation of the company

Reason R : A promoter Is the one who undertakes to form & company with reference to a given object and who takes the necessary steps to
accomplish that purpose

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Aand R are comect and R is the correct explanation of A.

2. Both Aand R are correct but R is NOT the correct explanation of A,
3. Als correct but R is not correct

4 Ais not correct but R s correct



Options :

22742735641. 1
22742735642, 2
22742735643, 3

22742735644. 4

Question Number : 136 Question Id : 2274279147 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

13 o U R W SN (Asserton A) 8 U 7 o & o ST 96 RV (Reason R) 3 ®U H

T A TR 0 3 T add 8 e il & o el ) S o WY TR WS

R R: 6 i g T 21 5 1 5 Ol e e ol o ST 6§ 39 T 1 1 &6 4 . Sfech ahcl ol
;

SR 4 i e A R e et € ) S O 1 94 g

{ AARREATEE MR AT T I

2 AR REHIG! § oI R AT ) e Tal ¢
AR R

I AR TR TSR TR

Options :

22742735641, 1
22742735642. 2
22742735643, 3

22742735644. 4

Question Number : 137 Question Id : 2274279148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(iven below are two statements: ane is labelled as Assertion Aand the other is labelled as Reason R

Assertion A: Persons with high self-esteem are ess susceptible to influence, more confident of achieving goals and more effective in social
networking

Reason R: Self-esteem manifests in several behaviours. Persons with high self-esteem tend to report fewer negative emotions than persons with
low seif-esteem

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Aand R are true and R is the corract explanation of A.

2. Both Aand R are true but R is NOT the correct explanation of A
3 Als frue but R s false.

4 Als false but R is frue

Options :

22742735645. 1
22742735646. 2
22742735647. 3

22742735648. 4

Question Number : 137 Question Id : 2274279148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T 3 B RUTU S, T A (Asserton A) & 0 ¥ i & o X1 99 BV (Reason R) 3 &4 &

SV A T I T 4] ] ) T g 1 e O g, & it T o it o 318 &l 4 T ~eaia o o
T g 3]

R R: S 31 g 5 Gl i ¢, I 18 T e ekl ] e & e T P e ol TR 41 v gl
H

TR 5 5 e, A R 7 el 9 U0 9 1 90 o

1. AR REHI BT 3 AR R, ATI TG ol §

2. AR R &I 1 3 T R, A 1 96 o e

AT RTHRE T
AR TR

Options:



22742735645. 1
22742735646. 2
22742735647. 3

22742735648. 4

Question Number : 138 Question Id : 2274279149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements
Statement |: The ordinary freasury bills that are marketable and have a secondary market are issued fo the public and financial insfitutions.

Statement | - Ad hoc treasury bills are issued only I favour of the Reserve Bank of India which is authorizad to issue currency notes against
them.

In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are true
2 Both Statement | and Statement If are false
3 Statement [ s true but Statement Il is false
4 Statement | s false but Statement I/ is true

Options :

22742735649. 1
22742735650. 2
22742735651. 3

22742735652. 4

Question Number : 138 Question Id : 2274279149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HaeEfme

T || GHG: 919 37 3R ATE SR a A9 f9a oal U4 favid SR &1 o) (6l i 5
B I; AR TSI foet chaet HRaTG Roid o o U&7 5 91 b o 3 9 S+1eb W10ty 3 Fie oK) & & e it g1
ST B & 1 | Ffeied fawed § 8 W S -

1. B 3R 11 G T 2|

2 T | 4R 11 G o B

3, % | T 3 fhq v |1 3 3|
4 T | {3 o B 1| T 3

Options :

22742735649. 1
22742735650. 2
22742735651. 3
22742735652. 4

Question Number : 139 Question Id : 2274279150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(Given below are two statements - ona 15 labelled as Assertion A and the other is [abelled as Reason R

Assertion A: Consumes may prafer to choose the channels based on their own shopping goals as well as price, product assortment and
convenience.

Reason R : Some consumers are unwilling o “trade-up” to retailers offering higher-end goods, and "trada down” to discount retailers for private-
label

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Aand R are comect and R s the correct explanation of A

2. Both Aand R are correct but R is NOT the correct explanation of A.
3. Als correct but R is not correct

4 Als not correct but R s correct

Options:

22742735653. 1



22742735654. 2
22742735655. 3

22742735656. 4

Question Number : 139 Question Id : 2274279150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1 2 B RUTUS, 8 A (Asserton A) & 0 ¥ i & o GER1 996 BV (Reason R) 3 &0 &
SRR A TUMTERT 1T 0 & T 0T ) e g S S, G0, 0 UG e e el 6 7 g & e g
V1R 75 QIR sl f R g ] CRI) 1 SR, g U Y ) i 1 1 T R ) Fpera
wadges

SR e o e A G T et A € e e 3 1 90 g

1 AR T W2 R R AT U8 ol 2

2 AR R TE1 & i R AT W) AR g
AR RE

| AR IR

Options:

22742735653. 1
22742735654, 2
22742735655, 3

22742735656. 4

Question Number : 140 Question Id : 2274279151 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements -

Statement |- For a given sample size and level of significance (), the critical value of Student’s t always exceeds that of z
Statement |1 - For a given leve! of significance (u), the critical value of Student's tincreases as n increases.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement || are false
3. Statement | s frue but Statement Il is false
4 Statement | s false but Statement Il is true

Options :

22742735657. 1
22742735658. 2
22742735659. 3
22742735660. 4

Question Number : 140 Question Id : 2274279151 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742735658. 2
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22742735660. 4

Sub-Section Number : 2
Sub-Section Id : 227427357
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 2274279152 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

Read the given passage and answer the questions that follow:

For most of its existence as a modem field of study since the 18th century, economics has fared reasonably well at explaining consumer

and producer behavior. It explained why buyers choose the products they do, how firms produce them to maximize profit. and how markets
discover the most efficient prices. This changed with the Great Depression, when aggregate variables came into play that needed a better
understanding han an assumption that markets refum to equilibrium after shocks. Thus came into existence macroeconomics, the most dismal
aspect of the dismal science. Economics has since diversified into quite & few other branches, such as those employing statistics and
psychalogy, but most of its disrepute originates from its failure to predict financial crises.

Macro' by its very nature - dealing with GDP employment inflation and other important but soporific matters and parameters - is headiine-
grabbing stuff. Governments come into play here as do intemational refations. Yet macro eludes the scientific method of testing hypotheses with
repeated experiments: one can't conceivably wreck an economy to establish the effects of a shock. Instead macroeconomists can only back-test
their models against data that may be of quastionable provenance. This makes prediction of the next stock market crash forever embamassingly
less exact than the refum of Hallay's Comet

Microeconomics, the reputable part of the endeavor. suffers from fewer imitations o controlled parameter experiments and delivers less
equivocal insights. The axplosion of commerce in the modern world owes itseff in no small measure to predicting actions by the smallest
economic agents: humans. Here, too, heroic assumptions are made. the foremost being that human beings are rational and information is fres.
The crisis in economic modelling arises from aggregating billions of micro fruths info one macro truth. Models are improving, 0 are quantitative
capabilities, and the qualitative judgements that drive macro policy will become more refined.

Sub questions

Question Number : 141 Question Id : 2274279153 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is the reason, as per the given passage, for crises in economic modelling?

1. Aggregating billions of micro truths into one macro truth

2. Only equalization factors are considered in economic models

3. Economic activities are not sufficient to study the macro environment
4 Human beings behave irrationally

Options :

22742735661. 1
22742735662. 2
22742735663. 3

22742735664. 4

Question Number : 142 Question Id : 2274279154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List I

List -1 List =1l
Phenomenon Reasons
A. Economics defines I. Better understanding of aggregate varables

B. Learning of Great Depression|ll. GDP, Employment, and Inflation

C. Macro-economic variables  |Ill. Human beings are rational and information is free

D. Pitfalls of Micro economics  |IV. How markets discover the most efficient prices

Choose the correct answer from the options given below:

1LA-ILB-ILC-l,D-IV
2 A-1ILB-ILC-I,D-IV
3A-ILB-IV.C-Il,D-]
4 A-IVB-I,C-Il.D-1I
Options:

22742735665. 1
22742735666. 2

22742735667. 3



22742735668. 4

Question Number : 143 Question Id : 2274279155 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following, as per the passage, are the major contribution of economics?
A_Buyers behavior towards the products

B. Firm’s behaviors for maximising profit

C. Retailers behavior to maximize sale

D. Market behavior to the most efficient prices

E. Stakeholder’s behaviors to maximise wealth

Choose the correct answer from the options given below:

1. A BandD Only
2 A BandC Only
3. B,DandE Only
4 A B andE Only

Options :

22742735669. 1
22742735670. 2
22742735671.3

22742735672. 4

Question Number : 144 Question Id : 2274279156 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement | - Macroeconomists can only back-test their models against data that may be of questionable provenance.
Statement | - Macroeconomic variables elude the scientific method of testing hypotheses with repeated experiments.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4 Statement | is false but Statement |l is frue

Options :

22742735673. 1
22742735674. 2
22742735675. 3
22742735676. 4

Question Number : 145 Question Id : 2274279157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is the reason, as per the passage, for driving more effective macro policies?

1. Assumption that markets return to equilibrium after shocks

2. Improved economic models are capable to understand qualitative and quantitative factors
3. Economics has fared reasonably well during financial crises

4. Every small measure is not capable to predict economic outcomes

Options :

22742735677. 1
22742735678. 2
22742735679. 3
22742735680. 4

Question Id : 2274279152 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Question Number : 141 Question Id : 2274279153 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742735661. 1



22742735662. 2
22742735663. 3

22742735664. 4

Question Number : 142 Question Id : 2274279154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 143 Question Id : 2274279155 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 144 Question Id : 2274279156 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742735673. 1
22742735674. 2
22742735675. 3

22742735676. 4

Question Number : 145 Question Id : 2274279157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742735677. 1
22742735678. 2
22742735679. 3

22742735680. 4
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Read the given passage and answer the questions that follow.

Over $350 bilion of private capital has been deployed over the last decade, which has propelled more than 5,000 enterprises. These new
businesses are anchored in innovative business models combining the full potential of technology, facilitating every Indian to fulfil their
aspirations.

The big shift in the last decade is the reimagination of India as an addressable market of 300 millon households, a massive shift from only 20
million households in tier-1 cities earlier. This has been propelled by the strong partnership between entreprenaurs and the PENVC ecosystem.
The share of FDI funnelled into PEVC has surged to 50-60%, up from 20-30% two decades back.

Besides the tremendous focus on value creation, the PE/VC industry has brought about multidimensional progress in the economy. The
principles of responsible investing that this industry is commitied to have enabled the building of & more equitable, inclusive economy, and one
that has eamed the trust of large global investors as an aftractive invesiment destination,

The PENC ecosystem sparked a renaissance, empowering young minds to take a bold leap. This led to & change in mindset where
entrepreneurship is now an accepted livelinood and, indeed & proud way of life. Today, startups and new businesses are celebrated and many
are giving up established carears to follow their heart, with families standing as stalwart supporters of entreprenaurship. The proportionality of
risk and reward has been embraced, forging & harmonious relationship between uncertainty and achievement

Stories at home and those that went global are a testament to the power of parinerships between the capital provider and entreprengurs,
fransforming a large democracy o be self-reliant, and elevating over a billion people to & new world of greater aspirations and confidence.

This revolution has been largely possible because of Gol's thrust towards attracting capital. The frameworks of alternative investment funds
(AIFs), GIFT City IFSC, Startup India programme and budget allocations, coupled with progressive amendments such as GST and India Stack.
have made India an atiractive destination for investment

Sub questions

Question Number : 146 Question Id : 2274279159 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the recent years, the focus of private equity and venture capital in India, has been on

1. Self-reliance

2. Job creation

3. Inclusive growth
4 Value creation

Options :



22742735681. 1
22742735682. 2
22742735683. 3

22742735684. 4

Question Number : 147 Question Id : 2274279160 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The principles of responsible investing to which private equity and venture capital industry is commitied have resulted in which of the following
outcomes for the Indian economy?

A Democratic decentralization

B. Balanced regional growth

(. Inclusive and equitable economy

D). Larger export orientation

E. Eamed the trust of global investors

Choose the corract answer form the options given below:

1.Band C Only
2. Aand D Only
3. Cand E Only
4 B, Cand D Only

Options :

22742735685. 1
22742735686. 2
22742735687. 3

22742735688. 4

Question Number : 148 Question Id : 2274279161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of following, according to the passage, have made India an attractive destination for investments?
A_Startup India program

B. Make in India program

C. Goods and Services Tax facilitation

D. Alternative Investment funds

E. Standup India program

Choose the most appropriate answer from the options given below:

1.A Band C Only
2. A CandD Only
3 A DandE Only
4 C, DandE Only

Options :

22742735689. 1
22742735690. 2
22742735691. 3

22742735692. 4

Question Number : 149 Question Id : 2274279162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the passage, which of the following is now being accepted as a way of life and livelihood?

1. PENVC ecosystem

2. Risk and uncertainty

3. Innovation and achievement
4 Entrepreneurship
Options :
22742735693. 1

22742735694. 2



22742735695. 3
22742735696. 4

Question Number : 150 Question Id : 2274279163 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: one Is [abelled as Assertion A and the other is labelled as Reason R
Assertion A: The private equity and venture capital ecosystem has sparked a renaissance, empowering young minds to take & bold leap.

Reason R : Today, startups and new business are celebrated and many are given up therr established caraers to follow their heart, with families
standing as stalwart supporters.

In the light of the above statements, choose the correct answer from the options given below

1. Both Aand R are true and R is the corract explanation of A

2. Both Aand R are true but R is NOT the correct explanation of A
3 Als frue but R s false.

4 Als false but R is frue.

Options :

22742735697. 1
22742735698. 2
22742735699. 3
22742735700. 4

Question Id : 2274279158 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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22742735683. 3
22742735684. 4

Question Number : 147 Question Id : 2274279160 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 148 Question Id : 2274279161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735689. 1
22742735690. 2
22742735691. 3

22742735692. 4

Question Number : 149 Question Id : 2274279162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742735693. 1
22742735694. 2
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22742735696. 4

Question Number : 150 Question Id : 2274279163 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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22742735697. 1

22742735698. 2

22742735699. 3

22742735700. 4



